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1%} 4 200 [109/02/03 |4 € PRI % A¥psces|E |- &k =
A s 100 |109/02/03 [4+ & rRix % Lupsees|® |- & =
3| E e 100 [109/02/03[4+ € PRF22 Lpfens|H |- 4nd =
NEx ¥ 100 |109/02/03 [4+ & rRix % Lupsees|® |- & =
5| & B 5 2,000 1109/02/03 |4 ¢ PRx 2 Lepsers|E |- 4 d =
6| % k¥ 1,000 [109/02/03 |4 ¢ PRA%% Lepters| 8 |- 4% =
7|27 e 200 [109/02/03 |4 € PRI % A¥psces|E |- &k =
8|F% B 1,000 [109/02/03[4+ € PRF%2 Lpfers|E |- dnd =
9| % = 1,000 [109/02/03[4+ € PRF%2 Lpfers|E |- dnd =
10[552 4 100 [109/02/03 [4+ & PRix % Lspfees| & |- 4xd =
NEEE 3,000 1109/02/03 |4 ¢ rRix 2 Lgpsens|E |- 4 d =
a3 44¢ 5,000 1109/02/03 |4 ¢ PRix 2 Lgpsers|E |- 4 d
13 %35 41 4 Je 29,920 1109/02/03|A- & PRix % Lipdre| 8 [ALgmiriEH & »
14|# 4% & 1,000 [109/02/04 (4 ¢ PRIx2 Lpfres| 8 |- &b =
15|88 it 2 3,000 1109/02/04 |4 ¢ rRix 2 Lgpsers|E |- 42 =
16[:% 1€, # 5,000 1109/02/04 |4 ¢ pRix 5 Lgpsees| 8 [- 42
17|47 8% 45 10,000 |109/02/04 |4 & pRax 2 LEpfems|® |- 4% 2
18]ii% 7 2,000 1109/02/04 |4 ¢ prix 3 Lgpsers| 8 [- 42
19/ %= 200 [109/02/04 |4 € PRA % Aspsees|E |- &k =
20|77 5. 4 100 |109/02/04 [4+ & pRix 2 Lspdees| 8 |- 4xd =
21|14 % 5% 1,000 [109/02/04 |4 ¢ PRix2 &spfess| R |- 4 d 2
22|35 3 % 250 [109/02/04 |4 € PRI 2 Aspsees|E |- &k =
23| 4% 250 [109/02/04 |4 € PRA % A spsees|E |- &k =
24| % ¥ 250 [109/02/04 |4 € PRA % A¥psens|E |- &k =
25|% & A& 250 [109/02/04 |4 € PRI % A¥psees|E |- &k =
26| %l4c 5 200 |109/02/04 |4+ ¢ PR#* 2 L¥pdces|d |- &&=
AEE 200 [109/02/04 |4+ ¢ PRI+ % Aspsees| L |- &k =
28| %] 4o pe 200 [109/02/04 |4 ¢ PRI % Aspsees| L |- &b =
20| 545 Fe 200 [109/02/04 |4+ € PRz 2 E¥pdeesE |- &5 2
30| gt it 200 [109/02/04 |4 ¢ PRI+ % Aspsees| L |- &k =
& &= 515 [109/02/04 |4+ ¢ PRI+ % L Epfces|H |- 4 & =
32|58 ik 300 [109/02/04 |4 ¢ PRI % Aspsees| L |- &k =
33|75 4 100 |109/02/04 [4+ & JRix % Apgees|H - &b =
34| pRE % 500 1109/02/04 |4 ¢ rrax 2 Lspsees| 8 [923 Bt
35| A 500 [109/02/04 |4+ ¢ PRA%% A spdres| 8 |03 Bl -
36|:x:% 7 2,000 [109/02/04 |4k ¢ PRAx% Espsres| L |Cimpd -
37| iE A 2,000 1109/02/04 |4 ¢ rrix 2 Lepsers| 8 (g% d »
38|+ T 2,000 [109/02/04 [+ ¢ pRAx2 Liperns| 8 [ERd =
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39[pA M2 L st 300,000 [109/02/04 i ¢ prix = Adpfer| 8 [F2 3 Fpam b &
40]% & % 500 [109/02/05 |4+ € pRix % &spsens|® |- &8 =
Al|%F § 500 1109/02/05 |4 ¢ rRix 2 Lgpseres|E |- 42 »
42|58 B & 500 |109/02/05 |4+ & PR32 Lipgcrs| 8 |- 4pd =
43| Anh 500 |109/02/05 |4+ & PR32 Lipdcrs| 8 |- 4pd =
44|15 &% 500 |109/02/05 |4+ & PRI % Lipdcns| 8 |- 4pd =
BHlEXT 1,000 [109/02/05 4 ¢ PRAx2 &pfens| R |- 48 2
46|77 5. 4 100 [109/02/05 4+ & PRFx 2 Lapdems| 8 |- 48 =
AT| P % 1,000 [109/02/05 4 ¢ PRAx2 &pfens| R |- 48 2
A8| K] & 4 1,000 [109/02/05 4 & PRAx2 &3pfens| R |- 48 2
49| M B 45 1,000 [109/02/05 4 & PRAx2 &pfens| R |- 48 2
50| £ 4% B 1,000 [109/02/05 4 ¢ PRAx2 &pfens| R |- 48 2
51 |m % 500 |109/02/05 |4+ & PRI % Lipgcrs| 8 |- 4pd =
H2[m @B 500 |109/02/05 |4+ & PR32 Lipgcns| 8 |- 4pd =
53[2 & 1,000 [109/02/05 4 & PRAx2 &pfens| R |- 48 2
04|17 ik T 1,000 [109/02/05 (4 ¢ PRAx2 Lipkees| 2 [523 Bp & =
55| T A Je > 2,784 [109/02/05[4 ¢ PRA% 2 L ptces| 8 [ EIRIBFEFE =
Y 1,000 [109/02/05 (4 ¢ PRAx2 &3pfens| L Mo s o
YEES 100 [109/02/06 |4+ & PRF* 2 Lapdees( 8 |- 48 =
08|aty 200 [109/02/06 |4+ ¢ pRir2 &ypgeres| 8 |- 42 =
59|38 v 100 [109/02/06 |4+ & PRF* 2 Lapdees| 8 |- 48 =
60|38 4 4 100 [109/02/06 |4+ & PRF* 2 Lapdees| 8 |- 48 =
61 |4 F 100 [109/02/06 |4+ & PRF* 2 Eapdees| 8 |- 48 =
62[2 & 100 [109/02/06 |4+ & PRFx 2 Eapdees(8 |- 48 =
635 K 4 100 [109/02/06 |4+ & PRI* 2 Eapders| 8 [- 48 =
64|57 2 4% 100 |109/02/06 4+ ¢ rRsx2 &pdems|E |- 48 =
653" P & 100 |109/02/06 4+ ¢ rRsx2 &spdems|E |- 48 =
66[5 47 100 |109/02/06 4+ ¢ rRix2 &phems|E |- 48 =
67[3 < & 3,000 |109/02/06 |4+ & PRix 2 Lrscrs| L |- 4 & =
68[m % & 2,000 |109/02/06 |4+ & PRix 2 Lrsers| L |- 4 & =
69[& % &« 300 [109/02/06 |4 ¢ PRix 2 Lirscrs| L |- 4 & =
T0[ 44 fF 300 [109/02/06 |4 ¢ PRix 2 Lirscrs| L |- 4 & =
1[5 3 500 [109/02/07 |4+ € PRix 2 Lirscrs| L |- 4 & =
72|32 e 438 [109/02/07 |4 € PRAx % Aipfens| . [- 4 2
5] =N 1,000 [109/02/07 A § PRix 2 &ipfess| R |- 48 2

* h W
74 jii EREFIH 2,200 [109/02/07 |- § pRit % & gpget| L |- i d =
HIESES S 10, 000 [109/02/07 |4+ & PRFx % Edptees|E |- 4 & =
76[% 4= A 500 |109/02/07 |4 & pRF% % Lipgens| 8 |- 4pd =
WIES-%:! 200 |109/02/07 |4 & PRFx % Lipgers| 8 |- 4pd =
8|5 F & 200 |109/02/07 |4 & PRFx % Lipgers| 8 |- 4p i =
9|17 & & 100 [109/02/07 |4+ ¢ PRAs 2 Laptems| 8 |- 4 s =
80[#% % 1% 6,000 [109/02/07 |4+ & PRis % Eaptems| 8 |- 4 s =
81[%1+ & 500 |109/02/07 |4 & pRs% % Lipgens| 8 |- 4pd =
82| % shm 500 |109/02/07 |4 & PRFx % Lipgers| 8 |- 4pd =
83|57 % 500 |109/02/07 |4 & PRF% % Lipgers| 8 |- 4pd =
84| FI4F 500 |109/02/07 |4 & PRFx % Lipgers| 8 |- 4pd =
85]#h & 1,000 [109/02/07 |4 ¢ pRa% % Lpscres| 8 |- 4% =
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86|tk it 4a 1,000 |109/02/07 |4+ & prixz Lupgems |8 |- 48 =
87|13 % £ 1,000 |109/02/07 |4+ & prirz Lupgems |8 |- 42 =
88|% =+ % 1,000 |109/02/07 |4+ & prix 2 Lupgems|H |- 48 =
89| % s = 300 [109/02/07 |4 € PRAx % A gpsens|E |- 4 & =
90|57 2. 4 100 |109/02/07 [Ax ¢ rRax % Hpsees| 8 |- &b »
91| 54k 2,000 [109/02/10[4+ ¢ pRA%2 L iperns|H [~ 42 =
92|% 41 10,000 [109/02/10|4 ¢ PRF%x2 Lipgens| 8 |- 42 2
93[% & 200 [109/02/10 |4 € PRA* 2 A gpsens|E |- 4 & =
94|% & e 200 [109/02/10 |4 € PRA* 2 A gpsens|E |- 4 & =
95|% # 200 [109/02/10|4- ¢ pRar 2 Lgpgees|® |- 42 2
96| % v 2 200 [109/02/10 |4 € PRAx 2 A gpsens|E |- 4 & =
YET S 600 [109/02/10 |4+ ¢ PRI+ % A¥psces| R |- &b =
98| % % 7§ 100 [109/02/10 [4+ & pRix 2 Lepdees|E |- 4xd =
99| &3k = 50 |109/02/10 A+ & PR3 % Lpfees|® |- &b =
100|+h25 & 2 200 [109/02/10 |4 € PRAx 2 Agpsens|E |- 4 & =
1012 4+ 200 [109/02/10|4- & pRasr 2 Lgpgees|® |- 42 2
102|2 e 28 200 1109/02/10 |4 & PRix % Lspsess| 8 [ i &
103|644 & 100 |109/02/10 (4 ¢ rras 2 Lpees| 8 |- 42
104] % i se 100 [109/02/10[4+ & prirz Lspkems|8 - 48 =
1052 4 = 100 [109/02/10[4+ & prirz Lspkers|8 - 48 =
1066 2 A 100 {109/02/10 4+ ¢ PRF*2 Lpfens|H |- k& =
107] &8 50 |109/02/10 4+ ¢ pRix 2 Lapgers|8 [ 48 =
108] 4 58 600 [109/02/10 |4 ¢ FRA% % LEpgees| L |- &&=
109|2% % 48 50 [109/02/10|Ax & PRIx% A dpfees| 8 |- & & =
110[z5 5 50 |109/02/10 A+ ¢ pRix 2 Lepfee|E (B #HEE =
111]#% % 3 50 |109/02/10 A+ & PRx % Apgem|® [ %8 =
112|742 600 |109/02/10 |4 ¢ PRix % Lepsess|E (23 &~
13|35 50 |109/02/10 A+ & PR3 % Lpees|® g s =
114] & 540 50 |109/02/10 A+ & PR3 % Lpees|® g s =
THEEY 50 |109/02/10 [A+ & PRix % Lpees|H B d =
16|74 % 600 |109/02/10 |4 ¢ PRix % L3psess| 8 [FEB e 2
117\3%< & 300 1109/02/10 |4 ¢ rRix % Lspsees| 8 [FEB e 2
118|384 = 100 {109/02/10 4+ & PRF®2 Lpfees|E | e =
119(3 5 m¢ 100 {109/02/10 4+ & PRI®2 Lpfees|E | e =
12038 4 4% 100 |109/02/10 4+ & PRz % Lspsees|H B d =
121136 % & 100 |109/02/10 4+ & pRix % Lspsees|H B d =
122|538 14 100 |109/02/10 4+ & pRix % Lspsees|H B d =
123|354 22 300 [109/02/10 |4+ & PRAx2 L¥pdees 8 |MEk L 2
124|448 38 3 100 |109/02/10 4+ & pRix % Lspsees|H B d =
1254 & % 100 |109/02/10 A+ & PR32 Lspsees|H B d =
126|222 500 [109/02/10 |4 ¢ PRAx % A¥psces| 2 BB d =
127]|2 % 4v 500 [109/02/11 |4 € PRAx% A¥psees| R |- &k =
128|m & % 500 |109/02/11 |4 ¢ PRix % Lepsens|E [ 4 & =
129|r 3 4 500 [109/02/11 |4 € PRAx% A¥psees| L |- &k =
130(Ff £ ¢ 500 [109/02/11 |4 € PRAx% A¥psees| R |- &k =
1314 x4 500 [109/02/11 |4+ & PRix2 HEpfees(L [ &5 =
132]48 77 500 [109/02/11 |4 € PRA % A¥psces| L |- &k =
133|2 4 & 500 [109/02/11 |4 € PRAx % A¥psees| 2 |- &k =
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134]|3 &5 500 [109/02/11 [A+ ¢ PRI* 2 & gpdces| & - g 2
135|fF & (&) 2,000 1109/02/11 A+ € PRF* 2 & Effees| & - g 2
136] 54 4% 500 [109/02/11 [A+ ¢ PRI* 2 & gpdces| & S
137 % &3 500 [109/02/11 [A+ ¢ PRI* 2 & gpdces| & - g 2
138| % % 3 500 [109/02/11 [A+ ¢ PRI* 2 & gpdces| & - g 2
139|5 3 500 [109/02/11 [A+ ¢ PRF* 2 & gpdces| & - g 2
140+ $+ 2,000 [109/02/11 [A+ ¢ PRI* 2 & gpdces| & S
141 |38 ~ e 1,000 [109/02/11 |4+ ¢ PR7%:% & Epices|H_ - g 2
142| 4 5 1,000 [109/02/11 |4+ ¢ PR#%:% & Epces|H_ - g e
143|764 & 500 [109/02/11 [A+ ¢ PRI* 2 & gpdces| & - g 2
144|757 & 500 [109/02/11 [A+ € PRI* 2 & gpdces| & - g 2
145( 2 J=5% 500 [109/02/11 [A+ € PRI* 2 & gpdces| & - g 2
146[77 5. 4 100 1109/02/11 |4+ € PRA% % & Epfoes|d_ - g 2
147] = f& 52 4,000 |109/02/11 [A+ & PRFx % & gpdces| 8 - g e
148| 7 ik 2,000 1109/702/11 A+ € PRF* 2 & Effeis| & s
149[Fh % 4 2,000 1109/02/11 |4+ € PRF% 3 & Epfces| & S
150]3% % 5k 1,000 1109/02/11 |+ ¢ PRA% % & Epfres|E_ S
10138 = {v 1,000 1109/02/11 |+ ¢ PRA% % & Epfres|E S
152|2 % & 1,000 1109/02/11 |+ ¢ PRA% % & Epfres|E_ S
19338 L % 1,000 1109/02/11 |+ ¢ PRA% % & Epfres|E_ - g 2
154" B § 1,000 1109/02/11 |+ ¢ PRA% % & Epfres|E_ S
155] " [7 75 1,000 {109/02/11 |4+ ¢ PRA*2 L EEfes| A S
156 & & 500 {109/02/11 |4+ € PRA*2 & EEfees| A S
157(7 5 4 100 1109/02/11 |4+ € PRA% 2 & Epfr et S
158 F ~ 5,000 [109/02/11 [A+ ¢ PRI*2 & Epdces| & - g 2
109F & = 1,200 1109/02/11 |+ ¢ PRA% % & Epfres|E S
160]Fs A+ &= 1,200 {109/02/11 |4+ ¢ PRA*2 L EEfces| A S
161|3 & % 1,200 1109/02/11 |+ ¢ PRA% % & Epfres|E gk P
162| 3 & 4p 1,200 1109/02/11 |+ ¢ PRA% % & Epfres|E S
163X 2+ % 1,000 1109/02/11 |+ ¢ PRA% % & Epfres|E_ S
164| 5 R 52 1,000 1109/02/11 |4+ ¢ PRA% % & Epfres|E_ S
165[ 4] & £ 4+ 2,000 1109/02/11 |4+ € PRAx 2 Lupfees[H  [Z & 2
166 F i3 % 330 [{109/02/12 |4+ € PRA*2 & EEfes| A e
167[m %] & 5 330 [109/02/12[A+ ¢ PRI* 2 & ¥pdees| & S
168 8 4¢ 330 [109/02/12[A+ ¢ PRI*2 & ¥pdces| & - AP
169|118 % 330 [109/02/12[A+ ¢ PRI*2 & gpdces| & - P
170| sz 2 350 [109/02/12[A+ ¢ PRI*2 & ¥pdees| & - AP
1711 514F B 330 [109/02/12[A+ ¢ PRI*2 & gpdces| & - AP
172(2 & i 1,000 1109/02/12 |4+ ¢ PRA% % & Epfres| - P
1733 ¥ 4 1,000 1109/02/12 |4+ ¢ PRA% % & Epfr et E_ - AP
17447 ie 1,000 1109/02/12 |4+ ¢ PRA% % & Epfres| - P
175[2 # = 500 {109/02/12|4+ € PRA*2 & EEfes| A - AP
176[F " % 500 [109/02/12[A+ ¢ PRI*2 & gpdees| & - AP
177 F e 5% 500 [109/02/12 A+ ¢ PRI*2 & ¥pdces| & - AP
178[% & pr 500 [109/02/12 A+ ¢ PRI*2 & gpdces| & - AP
179] % P 33 200 {109/02/12 |4+ € PRA:2 & Epfes| A - g2
180 % P 3 200 {109/02/12 |4+ € PRA: 2 & Epfes| A - g2
181[# m > 100 1109/02/12 |4 ¢ PRA* 2 & Epfres - g2
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182(% % # 100 |109/02/12[4+ & prix 2 &spfees| 8 |- &k =
183|575 2. 4 100 |109/02/12[4x ¢ rRax 2 Lpsees| 8 |- &b~
184[3 £.= 100 |109/02/12[4+ & a2 &spfees| 8 |- & d =
185(3 2 » 10,000 [109/02/12|4x g PRFx2 Lipsems| 8 |22~
186[3 % = 500 [109/02/12|4% € pRax % EEpgees| L g e =
187| %3 41 4 Je » 2,088 |109/02/12|4+ € PRAx2 L Epdcet| L A IRALEH L
188 %35 41 4 Jc » 3,480 |109/02/12|4+ € PRAx2 A ¥pdcet| L A R EH L
1894+ 3 500 |109/02/13 |4k & PRAx % Lipdces| 8 |- &% =
190 sRik % 500 [109/02/13 |4+ € PRix % Lipscrs| L |- 42 =
191 (4 8%, 3+ 1,000 {109/02/13 |4 ¢ PRA% % Lipfeet| 8 |- &% =
192|% Fo 300 [109/02/13 |4 ¢ pRix 2 EEpgees| L |- d =
193¢ 2. 5% 300 [109/02/13 |4 € PRix 2 Lipscrs| L |- 42 =
194[ % 45 3% 100 |109/02/13 |4+ & prix 2 &spfees| 8 |- & d =
195(% #c% 100 |109/02/13 |4+ & prix 2 &spfees| 8 |- & d =
196]% 5 A 100 |109/02/13 |4+ & prix 2 &spfees| 8 |- & d =
197|36m 2 1,000 |109/02/13[4+ ¢ pRFx 2 &apders|E |- 48 =
198]% # =2 5,000 |109/02/13 |4+ € pRix 2 Lrsers| L |- 4 & =
199|358 =4 e 3,000 [109/02/13|4+ ¢ PRFx2 Lypgeres| R |- 42 2
200|147 5 % 500 [109/02/13 |4k € pRax 2 EEpsees| L |- i ® =
2012 % & 1,000 |109/02/13[4+ € prirz Lupker |8 |- 48 =
202|158 7 1,000 |109/02/13 |4+ ¢ pRF* 2 Euptcrs| 8 |- 48 =
203[ 3 0 200 1109/02/13 |4 ¢ PRix % Lspsens| 8 |- i &
204(3 £ R 200 1109/02/13 |4 & PRix % Lspsess| 8 [ i &
go5|* 1A F A7 X 3,000 [109/02/13|is ¢ pat 2 &apgem| L |- st =

i , g PRI 2 Epdees A i &
206|% B & 2,000 [109/02/13 |4 € PRAx2 Lgpens| R |- &&=
207)i 3 2,000 [109/02/13|4 € PRAx2 Lgpens| R |- &&=
208| % £ ;5 500 [109/02/13 |4k € pRar 2 EEpsces| L |- i d =
209z 4 & 500 [109/02/13 |4k € pRir 2 EEpsees| L |- 4 d =
21037 87 2 1,000 |109/02/13 |4+ ¢ pRir 2 Lpdees|E |- 4nd =
211|% % 2 500 [109/02/13 |4 € pRar 2 EEpsces| L |- i d =
21214 4 2 500 [109/02/13 |4 & PRAx %2 Ldpfers|E |- &% =
213|117 % 2 500 [109/02/13 |4k ¢ PRIx 2 Espsres| L |- &&=
214|288 P 1,000 |109/02/13 |4+ & PRix % Lspfees|H |- &b =
215|4 £ 5% 300 [109/02/13 |4 € PRAx % A¥psees| L |- &k =
216]+ #v v &7 3 vk 20,000 |109/02/13 A+ ¢ PRix % Lipfees|E - 42 =
217|3 1,000 |109/02/13 |4+ ¢ pRix 2 Lpfems|H |- 4nd =
218|358 - 1,000 |109/02/13 |4+ ¢ pRix 2 Lpfees|R |- 4nd =
219|2  % 1,000 |109/02/13 |4+ ¢ pRix 2 Lpfees|H |- 4 =
220|358 3= B 1,000 |109/02/13 |4+ ¢ pRix 2 Lpfems|H |- 4nd =
221|358 & 4% 1,000 |109/02/13 |4+ & pRix 2 Lpfems|H |- 4nd =
2292 | 1 wg 22 500 [109/02/13 |4 € PRAx % A¥psees| R |- &k =
223| B 500 [109/02/13 |4+ € PRix2 HEpdces(E |- 8% 2
204|% 3 # 500 [109/02/13 |4 € PRAx % A¥psees| L |- &k =
225|% 4 3 500 [109/02/13 |4 € PRAx % A¥psees| & |- &k =
226]% -iis 500 [109/02/13 |4 € PR % A¥psees|E |- &k =
227|%res 45 500 [109/02/13 |4 € PR % A¥psees|E |- &k =
22813 15 500 [109/02/13 |4 € PRAx % Lgpsens| R |- &&=
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2292 4 2 500 [109/02/13 |4+ € PRAx2 Edpscns| D |- 4 & =
230| % A 500 [109/02/13 |4+ € PRAx2 Edpscns| D |- 4 & =
231|#k 2 500 [109/02/13 A% & pRA% 2 Eapfens| 8 [- 4 d 2
232\ £ £ 500 [109/02/13 |4+ € PRAx2 Edpscns| D |- 4 & =
233 & % 500 [109/02/13 |4+ € PRAx2 Edpgens| L |- 4 & =
234|5 -~ ¥ 500 [109/02/13 |4+ € PRAx2 Aipgcns| L |- 4 & =
235| ka7 500 [109/02/13 |4+ € PRAx2 Edpgces| D |- 4 & =
236 4275 500 [109/02/13 |4+ € PRAx2 Edpscns| D |- 4 & =

P ——
237 ;;;i;;; ],; 1,000 [109/02/13 |4 ¢ PRix2 A3pfees| R |- 4 2
238| % % & 350 [109/02/13 |4+ ¢ pRir2 Lipsces| L |0 pmd =
239|148 ¢ = 300 1109/02/13 |4 ¢ rRix3% Lupders|® |3 Kpd ”
240\ ¢ 60,000 [109/02/13|4 g PRAx2 Lapkems|E  [e % =
24117 % & 500 [109/02/13 |4+ € pRAx2 Aipsces|d e & =
242| #nik ¥ 500 [109/02/13 |4+ € pRix2 Lipsces|d | & =
243\ #_ 300 [109/02/13 |4+ € pRAx2 Lipsces|E |e i =
244|1F  P 500 1109/02/13 |4 ¢ rrix 2 Lspsees| 8 g% i »
2458 I & 500 [109/02/13 |4 ¢ pRir2 &spgeres| 8 e =
246+ ik ® 350 [109/02/13 |4+ ¢ pRAx2 st L |[Wme »
247|2 f k= 200 [109/02/13 |4+ ¢ pRAx2 Lipsces| L |[Hme »
248| 3 v 3= 200 [109/02/13 |4+ ¢ PRAx2 Eipsces| L |[Hmi 2
249| =4 = 200 [109/02/13 |4+ € PRAx2 Eipsces| L |[Wmi »
250| 48 4% 200 [109/02/13 |4+ ¢ PRAx2 Lipsces| L |[Wme 2
251|% & & 200 [109/02/13 |4+ € PRAx2 Lipsces| L |[Wmi »
252|% & 38 200 [109/02/13 |4 ¢ pRir2 &spgeres| 8 e =
253|358 ¥ Ik 200 [109/02/13 |4+ ¢ PRix 2 Lirscrs| L [WHgd @
254|% &% 200 [109/02/13 |4 ¢ PRix2 Lipscrs| L [l @
200| 5% % 200 [109/02/13 |4 ¢ pRar 2 Lgpsees|E [HBe 2
256|#% £ & 200 [109/02/13 |4 € PRix2 Lirscns| L [Hgd @
257|358 % 200 [109/02/13 |4+ € PRAx2 Lipscrs| L [WHmd @
258|% % & 200 [109/02/13 |4+ € PRAx2 Lipscns| L [WHgd =@
259\ £ 200 [109/02/13 |4 ¢ PRix2 Lipscrs| L [l @
260 3%k 2 200 [109/02/13 |4+ ¢ PRix 2 Lipscns| L [WHgd @
261|% 484 200 [109/02/13 |4 € PRix 2 Lirscns| L [WHge @
262 |k % 200 [109/02/13 |4 € pRax 2 EEpscs| L [Hmd =
263|% 7 T 200 [109/02/13 |4 ¢ PRAx 2 Lipscrs| L [WHmL @
264 % p iz 200 [109/02/13 |4 ¢ PRAx 2 Lipscnt| L WL @
265| % 200 [109/02/13 |4 ¢ PRAx2 Lirscnt| L [WHmd @
266| & 5 200 [109/02/13 |4 ¢ PRAx2 Lipscrs| L WL @
267| % $ik 200 [109/02/13 |4 ¢ PRAx 2 Lipscnt| L WL @
268| % ip 200 1109/02/13 |4 ¢ rRix 2 Lipsees| 8 [PEmd 2
2693 kit 300 [109/02/14 |4 ¢ PRAx 2 Lipscrs| L |- 4 & =
270|% ~ 5 300 1109/02/14 |4 ¢ PRAx% E3pfees| . |- 45~
211 | R < sy o 400 [109/02/14 |4 € PRAx 2 Aipfens| . [ 48 2
272|2 & & 400 [109/02/14 4 € PR7* % Lipfens| L [ 4 2
213| % it 375 [109/02/14 |4+ € PRAx 2 Lipsers| L |- 4 & =
274|1% T % 375 [109/02/14 |4 € PRAx 2 Lipscrs| L |- 4 & =
2753 4 375 [109/02/14 |4 € PRAx 2 Lipscrs| L |- 4 & =




B |ATRE F PARSAL L TR EYE (R P Wi ?;‘ s
276|% #1: 375 |109/02/14 |4 & PRix 2 Lipgees| 8 |- &% =
2717 & 2 = 515 |109/02/14 |4+ € PRFx % L¥pfees| . |- 48 =
278|% ~ 7 200 1109/02/14 |4 & PRi% % Lipgees| 8 B s =
279|% gerz 300 [109/02/14 |4+ € PRAX % L dpdret|E Mk e &
280| % 75 11 4 e » 6,612 [109/02/17 |4+ & PRA% 2 HEdces |8 | §IRIFEH & =
281| % 75 11 4 Jc » 696 1109/02/17 |4k & PRA%% Lipdees|E | e R ZEH & =
282| % 75 11 4 Jc » 7,653 [109/02/17 |4+ & PRA% 2 L Edces |8 |i g IRIFEH L &
283 % ¥ 5 500 1109/02/18 |4 & PRix % Lipgees| & |- &% =
284|% 4 1% 500 |109/02/18 |4k & pRAx % Lipdces| & |- &% =
285 % ¥ 4r 500 1109/02/18 |4k & PRi% % Lipsgees| & |- &% =
286|% 4% 15,000 [109/02/18 |4t & PRAx % Eapfees| 8 |- 4 & =
287| 3 i & 5,000 [109/02/18 |4+ & PRAx % Eaptees| 8 |- 4 d =
288|2 % + 5,000 [109/02/18 |4t & PRAx % Eaptees| 8 |- 4 d =
2893 7+ 1,000 [109/02/18 |4 § PR 2 &apfess| R |- 48 2
290 +k T g 2,000 [109/02/18 |4+ PRAx % Eaptees| 8 |- & =
2914k e ¢ 500 [109/02/18 |4 ¢ PRAx% A¥psces| R |- &b =
202|+k % £ 500 1109/02/18 |4 & pRix % Lipgees| 8 |- &% =
293|512 ¥ 500 |109/02/18 |4k & pRAx % Lipdeet| & |- &% =
294 %) A« i= 500 |109/02/18 |4+ € PRFx2 Lapfers| . |- 4 =
2954k % & 500 |109/02/18 |4k & pRAx % Lipdcet| & |- &% =
296[4k 2 4 500 [109/02/18 |4 ¢ PRAx% A¥psces| R |- &b =
207\ H +R 255 500 1109/02/18 |4 & PRi% % Lipgees| 8 |- &% =
298| & 500 |109/02/18 |4k & pRAx % Lipdret| 8 |- &% =
299+ % % 500 |109/02/18 |4k & pRss 2 Lipgers| 8 |- 4pd =
300|514 500 |109/02/18 |4+ € PRFx 2 Lapfers| . |- 42 =
3012 15 500 [109/02/18 |4k ¢ FRIx 2 Espsres| L |- & & =
302|135 % 4 500 [109/02/18 |4k ¢ FRAx % Ldpsgees| L |- &&=
303|435 % 500 [109/02/18 |4t & FRix 2 Lipgees|® |- &% =
304 k4 4% 500 |109/02/18 |4 ¢ MRax % Lspgees| 8 [- &~
305|727 500 |109/02/18 |4 & pRis % Lipgens| 8 |- 4p i =
306| 2 #.:% 500 [109/02/18 |4k ¢ PRI 2 Aspsres| L |- ik =
307\ &P ;s 10, 000 [109/02/18 |4t & PRAx % Lot 8 |- i d =

= 2 15
308 ?ij’ R 1,000 [109/02/18 | & pin 2 & spscns| L |- it =
S 4.
309|% # 2 1,000 [109/02/18 |4 ¢ PR 2 Aspferes| L |- &b »
30|24 % 500 |109/02/18 |4k & PRAx% Lot & |- & =
311| % 45T 5,000 [109/02/18 |4t & PRix % Eapfres| 8 |- i d =
312|%1p % 3,000 [109/02/18 AL & PRIx% L¥pgees| . |- 4% =
313| %% 48 1,000 |109/02/18 |4 ¢ PRix % Lpdces|® |- & & »
314|883k B 1,000 |109/02/18 |4+ € PRix% % spfcrt| & - g -
315|7 # 2. 500 |109/02/18 |4k & PRAx% Lot & |- & =
316(% = & 2,000 [109/02/18 |4t & PRix % Lot 8 |- i d =
317|#f £ 300 1109/02/18 |4k & PRA%% Lipgcet|d |23 B b
318|52+ & 200 1109/02/19 |4k & JR4x% Lipdeet| & |- &g =
319|42% £ 200 1109/02/19 |4k & JR4%% Lipdgeet| 8 |- &g =
320] 42 = 200 1109/02/19 |4k & JR4%% Lipdgeet| 8 |- &g =
321 |42 1 2k 200 1109/02/19|4+ € PRI: 2 L dpfees| . |- & =
322\t % B 200 1109/02/19)4k & JR4x% Lipdgeet| & |- &&=




A4
o)

L | P (WA (TR R T e [P

323 27 20,000 1109/02/20 [4+ ¢ pRix2 Eipfees|q |- g =
324| £ 55 1,000 [109/02/20 4+ & pr5x2 &pker|d |- 48 =
325|% 4n it 100 [109/02/20 4+ & prixz Lapkems| 8 - 48 2
326[ % A& A 100 [109/02/20 (4 € PR32 2 Lphens|E |- & =
327| & B 500 [109/02/20 |4+ € pRix % &spsers|® |- &&=
328K 500 [109/02/20 |4+ € pRix % &spsers|® |- &8 2
329|# it #F 500 [109/02/20 |4+ € pRix % &spsers|® |- 48 =
330/ 500 [109/02/20 |4+ € pRix % &spsers|® |- 48 =
331|3F % % 500 [109/02/20 |4+ & PRAE2 & et 2 g
332|m & i 500 [109/02/20 |4+ € pRix % &spsers|® |- 48 =
333|222 3,000 [109/02/20 |4 € pRix 2 &apsers| L |23 Had 2
334|:8 % % 500 [109/02/20 |4+ € pRix % &spsers|E |2 % d =
335|FH & 1,000 [109/02/20 4+ ¢ pR522 &spker|d |2 % & =
336/ m %4 148 [109/02/20 4+ & prix 2 Lpkem |8 [ =
337|3 & 5,000 [109/02/21 |4+ & PRI 2 Agpces| 8 |- 4 & =
338]% # K% 2,000 [109/02/21 |4+ € PRI+ 2 Agpsees| 8 |- 4% =
339|% & 2,000 [109/02/21 |4+ & pRAx2 Agpees| 8 |- 4% =
340/ % P & 2,000 [109/02/21 |4+ & pRAx2 Aspees| 8 |- 42 =
M1 E & 2,000 [109/02/21 |4+ € pRAx2 Aspces| 8 |- 42 =
M2\ P % 2,000 [109/02/21 |4+ & pRAx2 Aspsces| 8 |- 42 =
ML EE 2,000 [109/02/21 |4+ & pRAx2 Aspees| 8 |- 4% =
3445408 200 [109/02/21 |4+ € PRAx 2 Lipgcrs| L |- 42 =
345 | st 200 [109/02/21 |4+ € pRAx % &ipsers| . |- 48 =
346|540 200 [109/02/21 |4+ € PRAx % &ipsers|E |- 48 =
347 | Fe 200 [109/02/21 |4+ € PRAx % &ipsers|® |- 4% =
348|514 e 200 [109/02/21 |4 € PRAx 2 Lgpsens| R |- &&=
349[+k ¥ & 1,000 [109/02/24 4> ¢ PRFx3 Lipsdees| L |- & & »
350| & 4 600 [109/02/24 |4 € PRAx 2 Lgpsens| R |- &&=
351 | % 75 f1.4 Jx » 2,088 [109/02/24 |4 € PRAx2 Lapscs|E R EIRIER L 2
32| 3= £ A 5,000 [109/02/25 |4+ € pRAx 2 &spsers|E |- & =
353|F X% 1,000 |109/02/25[4+ & prirz Lpker |8 |- 4 d =
354|% 2 = 100 [109/02/25[4+ & pRir 2 Lpkers| 8 - 48 =
355|FH % 100 [109/02/25[4+ ¢ pRix 2 Lpkems| 8 [ 48 =
356 % # A 100 [109/02/25[4+ & prixz Lspkems| 8 |- 48 =
357|% 7 % 300 [109/02/25 |4 € PRAx 2 Lgpsens| R |- &k =
358|F 4 % 300,000 [109/02/25 |4+ € PRAx2 Lapsens| R |2 i =
359|2 A FF £ i 3,509 [109/02/26 |4 € PRAxr2 Lgpsers| R |- & i =
360+ 4% & 1,000 |109/02/27 |4+ ¢ pRix 2 Lpfees|H |- 4nd =
361 |4k % ok 1,000 |109/02/27 (4t & PRFx 2 &pems|E |- 48 =
3625 4 10,000 [109/02/27 |4 ¢ PRFx2 Lfpsees| 8 |- 42 =
363|+k % % 10,000 [109/02/27 |4 ¢ PRFx2 Lfpsees| 8 |- 42
364 % 10,000 [109/02/27 |4 ¢ PRFx2 Lpsees| 8 |- 42
365 )iz 4 % 10,000 [109/02/27 |4 ¢ PRF%x2 Lfsees| 8 |- 42 =
366 % 73 11 4 Jc » 6,611 |109/02/27 |4t € pRix 2 L¥rscrs| L [AL g RArEH L 2




